TEMA 5 ESTADISTICA Y PROBABILIDAD

Actividades del 13 al 24 de abril

Xi fi Xi fi
5) Moda: M, = 2 0 9 0
S 1] 23 | 23
Media aritmética: 2 | 29 58
_ 3 8 24
X=Yxi-fi/N=129/75=172 4 6 24
> | N=75 | 129
6) Intervalo modal: M, =[3,2; 4) e | 3 s
Media artmetia easp 28] 12 [ 336
_ [448) |44 11 48,4
X=Y x-fi/N=2865/70=4,08 [56:64)| 6 9 54
6472168 4 | 272
Suma Y N=70 | 285,6
7) Intervalo modal: M, = [1,09; 2,26) AR " 3 -
. ol sy [1,09;2,26) | 1,68 7 11,76
Media aritmética: [2,26:343) | 2.85 6 171
_ [3.43:4,60) | 4,02 4 16,08
X=Yx-fi/N=93,48/25=3,74 [4,60;5,77) | 5,19 4 20,76
[56,77.6,94) | 6,36 2 12,72
[6,94;8,11] | 7,53 2 15,06
Suma X N=25 | 93,48
8) a)Fi= Fi/N xi | fi| Fi| Fri Hi Xi fi Fi | Fei Hi
451111 |003]| 3% 60 1 17 | 0,51 | 51%
b) Hi = F.i - 100 48 | 1| 2 | 006 | 6% 61 2 19 | 057 | 57%
49|11 3 |009| 9% 62 2 21 1 0,63 | 63%
C) Pio = 50 50 | 1| 4 |02 12:% 63 3 24 | 0,72 72;'/0
Qi = 55 511 1| 5 | 015 | 15% 64 2 26 | 0,78 | 78%
_ 52| 1| 6 | 0,18 | 18% 65 1 27 | 0,81 | 81%
M. = 60 53| 1| 7 (021 | 21% 66 1 28 | 0,84 | 84%
Qs = 64 54 | 1| 8 | 0,24 | 24% 67 1 29 | 087 | 87%
Poo = 69 55| 1|9 |027|27% | |68| 1 |30]090]| 90%
56 | 2 | 11 | 0,33 | 33% 70 1 311093 | 93%
57 |12 |13|10,39 | 39% 72 1 32| 0,9 | 96%
58 | 2 |15 | 0,45 | 45% 74 1 33 1 100%
59| 1|16 | 0,48 | 48% > | N=33




